2 SFENFHE (XF - BE - XUh) - 5o

P5
iR 1
L1
. 155;5“ é;)é gﬁb\ PR
Io& FRL>fc DIc, REDOHETHENT ULE o, =
Although | was in good condition all the time, (to my regret) | was defeated at the last match

(game).

*¢'5 & = all the time, much [adjective]
256555 256555

* §75/8 72 > = = (X) was good condition = <plain-style-past-affirmative> of 47589 (be good

condition)
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M IC = 1 although ~, in spite

of ~ 2inorderto ~/

* Eﬁn'c LU & o 7c =to one’s regret, (X) lost (I was defeated) = <plain-style-past-affirmative> of
E&#’LT L XWX T =to one’s regret, (X) lose (be defeated)

* Eghi"é‘ = be defeated, lose (the game)

* [te-form] UL XWX 9 =1 to one’s regret, he does ~ 2 finish doing ~ completely

1 Eﬁn’t = te-dorm of %ﬁhi@' g2 = fall down |
2 g)%’b‘( = te-form of E&hi@“ g2 = be torn, tear <intransitive-verb> E}S‘SZ DFEI gl =tear
<transitive-verb> ‘
E&Szfn? = te-form of E&#’Li@“ g2 = be defeated (be beaten) , lose (the game)
3 %ﬁhf %thi@“ g2 = fall into disorder, be disarranged
/,\*LT ,,\hi"é” g2 = be crushed, be smashed

12
L E@ Z H<h £5Fw>
ORI F B ES N BRENG, =
For this work (For the purpose of this work), the high linguistic ability is required (is needed, is
demanded).

ey

lllj-I

KD &< . Lo .
=% 71 = linguistic ability
SES &D%@D

* B3R &N = <plain-style-nonpast-affirmative> of 3K 11X 3 (be required, be

£S5
demanded, be needed) which is the passive-verb of j? Z 9 g3 (require, demand)

*

% O
|

13

EHREB 3 w<
ziEECD iﬁfi &%/utl’f'%ﬂt)ﬁ_o =
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We celebrated our friend since he has passed the examination.

z5m<
* &1 = to pass an examination
[A¥ )

[B¥ )
* $1> fz = celebrated = <plain-style-past-affirmative> of #LL\E 9 g1 (celebrate)

Wb Wb

1 f1 > fz = <plain-style-past-affirmative, ta-form> of ?RL\?@“ g1 (celebrate)

Wwo
2 #1  fc = <plain-style-past-affirmative, ta-form> of ?ﬁ D&Y g1 =pray

Eo = = <plain-style-past-affirmative, ta-form> of H_-"ub\i"é" g1 = tell a fortune
4 J?ED fc = <plain-style-past-affirmative, ta-form> of ﬁﬁb\iﬁ g1 = hope, wish

|:|4
BhE  Be>uD

Eholcs, TFIVO BEE FHLT <, =

If you feel cold, please adjust the temperature of the air-conditioner.
* 3‘3375\9 fc5 =ifitis cold

* [plain-style-past-affirmative] 5 = if ~

iFS h &
* SR = temperature

N
11l
O H]
1l
%
&
c
o
@
3
()
S
—
—
c
S
5
Q@
-~
®
Q
c
)
=
(@)
5

15
L,;%;L\

=87 EE% JE—ULT ETLKIEEW, =
Please go to photocopy this document quickly (and then come back here).

£B5W0
i* = document

*OAE— LT E7T <f£& L) = Please go to photocopy and then come back
* [te-form] & &E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far

P6

fElRE2
DG
AW Db 55 & L\

j]‘%::t:Fﬂ:lo) %u& :lb:h/_( \/\éo =
It is said that pigeons are the symbol of peace.
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Ly

*...& EPNT W3 = <plain-style-nonpast-affirmative> of .... & E\b#’b’c WZET =ltis said
that ....
*EPNET =be said = passive-verb of EULVE T g1 (say)

17

T‘_l,\l,\%u HWIE T

BiELTH, LIFS< O E. BLW EEJJ E ULRWT <FEEL, =
Even if you leave hospital, please don’t take any violent (intense) exercise for the time being.

fcWwWA

*BBE LTH =even if (X) leave hospital

fcWWA
* BBt U £ 9 ¢3 = leave hospital
* [te-form] B = even if ~

SAES

*EEILU X I = exercise
* [nai-form 7%\ T < 72 & L\ = please don’t do ~

(18

FWeWwT A b <R Sy =t ATS &55<

WS- 2D BRESE BT, =

| registered (entered) my friend's phone number on my handphone.

Ay
J

o
N

E53<

* Z#x U fc = registered = <plain-style-past-affirmative> of E#k L X9 g3 (register)

B M bW ZWH =z

ﬁEé/ﬁJ% né EO) H%@LC E%') ft:o =
| invited Mr Oakada to the movie which is much talked about.

brEwn
-ﬁﬁ_ a topic (of conversation)

an’D fc = invited = <plain-style-past-affirmative> of mb\iﬁ g1 (invite)

(110

/i » Uhh 5K U NS -

HEELbE O RKEZ 6RKICEELT S o1, =

| asked my friend to change the appointed time to 6 o'clock.

ES % U A
*FEEHtE D K = the time when | arrange to meet him
NATDS
*ZHE LT H5>7c =(X) changed and | received a favor from him = <plain-style-past-
NS

affirmative> of Z8E LT £ 5L EX T ((X) change and | receive a favor from him)
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P7

fERE3
D11
WA <7bL\ FhEW
ﬂi’tat EFET & D7D %ubnr_ FHERL. =

He is the existence (the person) who is known quite well in the medical world.

WAt < A

* RZ 5 = the medical world
9]
* %15 117z = was known = <plain-style-past-affirmative> of £15 %1% 9 (be know) which is the
)
passive-verb of K10 F 9 g1 (get to know, know)
ZAZWN

* IZ7E = existence

* [na-adjective / noun] /2 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T3~

(112

FoUL&SEA

D>5L &S &
R T BT, EEB KT, =
We lost in the finals and finished second (became the runner-up).

BoUL&5EA

* JRES Bk = the finals

"By T =8l ZLT, =lostand..

* é\H fc = lost = <plain-style-past-affirmative> of H F9 g2 (lose)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it 5; Egimb?tiimes used to show reason as well.

* ¥ (BB =To finish second, the runner-up
H B
* #&3 - fz = finished = <plain-style-past-affirmative> of #£10 D £ 9 g1 (end, finish)

(113

FATE D g‘;iéh\ \‘a“ -

IREEPET ([ T ARE > T WVWARWLW S LW, =

At the present stage (At this moment), it seems that the details has not been decided yet.

FATEAD W
* IIELPE = at the present stage

Lesah
* 5l = details

= =
*RE > T WL = hasn't been decided yet = <plain-style-nonpast-negative> of JRE > T WX
9 (have already been decided)

=
*RZE D £ g1 =be decided, be settled
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* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 5 L L\ T9 =1 hear (heard)
that ~ and | think so too, It seems that ~

(114

ZhAbW EWLA FS56A 05L&

KIIR
SE) RED FHid AR Tohl, =
The visit of the minister was conducted unofficially this time.

Z bW . .

* £[0] = this time
ZWUOA L.

* KEE = minister

F>BA

* ShfE = visit

O Z5LE
* JEAZ = unofficial, informal
BIG
* {Th 1/ = was conducted = <plain-style-past-affirmative> of 171011?@“ (be conducted)
K

which is the passive-verb of 17\L)\&K 9 (conduct, do, perform, carry out)

LE
N1, = official, formal /formula

Jr

N

D15
Z3550 ShFEb
Ko SE0 BE L. BEE Lelor, =
The total sales of this year of our company exceeded that of last year.

b L
* T HY4E = our company
%/5\3235&
* #8855k = complete sales, total sales
ShEb SbhFEb

* k[0l - 7z = exceeded, was better, surpassed = <plain-style-past-affirmative> of £[A]D £
(exceed, be better, surpass)

P8

F84
L116

L&D

1 822 = inspection, observation
A&

2 #RE = inspection, examination, test, audit
[F28HWn

3 FHBH = invention
RATE
T = analysis

Z FhAWA
#i/z BT % éﬁﬁbt ‘f“—“% %ﬁﬁw) JREDY Eﬂbb\ Hmolce =
We analyzed various datas. As the result, the cause of the accident became clear.
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* £k 4 = various
A 3 AEE

RhEE
* T U fo = analyzed = <plain-style-past-affirmative> of 7347 L &9 g3 (analyze)

U
* B = accident
FTAWA
* JREl = cause
HE
* BH 5 D = clear, obvious, evident
* 7& o fc = became = <plain-style-past-affirmative> of 72D £J g1 (become)
* [stem of i-adjective] < 7% D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D ¥9 = become [noun]

17

;ié%;“g = an imitative word, a mimetic word
1 <5< 5 =wobble

2 NSNS = rattle-rattle

3 IF5IF5 = separately

4 35,835 = a little stroll

&5 N N _ PEbE &
#HZz R5R5 LT Webs, IUKRSAIC 2ol =
| was wandering around the town. Then, (I tell you what happened.) | met Mr Yamamoto.

* [plain-style-past] 5 = if (X) do ~, when (X) do~, after (X) do ~, (X) did and | tell you what
happened <discovery>

2]

= o fc = met = <plain-style-past-affirmative> of Kb\iﬁ“ g1 (meet)

118
hoE

1 7&K = liveliness
72‘9@5? . ) . )

2 JE¥ = lively, animated, active, brisk
hoP<

3 JEIE = activity, to play an active part (role)
hoES

4 JEH)) = activity, to become active

£D [ x5 N ZJ‘O _\
RO O HiE EIA ERIC &an’c Wd, =
On the festival day, the town is full of liveliness.

£D
* 8D =festival
513\ E/S\
* BN T L3 = <plain-style-nonpast-affirmative> of ;@11 T L\E I (be overflowing now)

* ”hi 9 g2 (overflow)
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119

1 }5;9 T = te-from of f*é N ¥9 g1 =dive, submerge oneself

2 E?EE > T =te-form ofE?uti N F9 g1 =be packed, be filled, be jam-packed, be sopped up
3 ;Pj_?'lj/u’é‘ = te-form of %o”_}i@“ g1 = sink

41BFE 5T =teformof BE D £ g1 = be buried

= N el T Z
JE—RRIC DN FEE > T BT R, =
Paper jams inside the photocopier and it never comes out.

* E%i °2T= E%io fco LT, =(X) was packed and ....
* 55 F o o = (X) was packed = <plain-style-past-affirmative> of 5% D £ 9 g1 (be packed, be

filled, be jam-packed, be sopped up)
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.
K < S &
* HHT AL = don’t come out = <plain-style-nonpast-negative> of 1T &% 9 g3 (emerge,

appear, come out)

(120

FAZW

1 R = reflection
EFSZ W

2 AR = to televise
WA LS

3 5|3 = a quotation, a citation
TVLS

4 A = adoption / employment

All four vocabularies above can be followed by U &9, and they can be used as a verb.

&5ED (AFS U un [FAZW

Ledt \ E<VA
CDINGRIE SO Bz RIRUC FERmic. =
This novel is the work which reflects the current age (era, time).

L,J:'B_‘g"_)
* J\EE = novel
U e L\\ .
* B = the times, an age, an era

[FhZ W [FhZ W

* RBR U 7z = reflected = <plain-style-past-affirmative> of IR L £ 9 g3 (reflect)

=< DA
* {5 = a (piece of) work
* [na-adjective / noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T39”

71743



121

1 [FAN° D =dim(ly), indistinct(ly), vague(ly)
2 A D =fluffy, softly, lightly, gently

3 3 29 5 =slightly, faintly

4 U > &D =wet, moist, damp

fo & BH BV N FE z& H
HPZAEF RWE FAPD BO Nz BT W, =
Mr Tanaka was looking outside of the window absent-mindedly for a long time.

B BWE

* &R U\E = for a long time

* %O)Z’i = outside of the window

* %T L\/z = was watching = <plain-style-past-affirmative> of %’C LWE 9 (be watching now)
* %i"é‘ sg2 = watch, see, look

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

(122

1 /3?71353% = a deep place, the depths

2 %5’% = a storing point, a strength, an advantage

3 %5’# = a high place

4 %cﬁ = weight

BHEE B SERIC B ELL O A ED B 7, =

The fact that he is quite familiar with not only the economy but also the law is his strong point.

FnEn
* #&F = the economy, an economy

*A 72lF T7% < B =notonly Abut also B

* EE = a law, the law, law

* %%2 U L\ = detailed / be quite familiar with, be well acquainted with, be well informed about
* [plain-style] @ = the fact that ~

* [na-adjective / noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T3’

P9

1785
123

8/43



3 h
1 R = effect
bk "
2 JREE = a state, conditions
Dw>Z>
3 1T = popularity, a craze, a fad, a fashion, a vogue
EhE&S
4 E%5R = a strain, tension

2ht eel
COT—ALiF RS ET\EHEWTESES, =
Probably this boom will not last (continue) for a long time.

* HEHVE LY = be not continued = <plain-style-nonpast-egative> of #t = &£ 9™ g1 (be continued)
* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] /2% 5 =the plain-style of TU &
which means ‘1 Probably ....... b2 e, , right?

[ 124

Wz
1 2T =in my hurry (to do ....)
okl X
2 #ext =9 Ic = without forgetting no matter what
Ly
3 F#HT= quietly
LwSRhErp S50\

4 +45 3EFE LT = very carefully

TELS LAB&S .
D EEIEBEICP>T KRSV, =
Please do this work prudently.

IELS )
* fE2£ = work, operations
LAB&S . .
* |E& = prudent, cautious, discreet, careful

*DFXI =1do 2 (superior) give (inferior)

[]25

1 ;SJL\\FS < 78> 7T =te-form of ;:]L\\é < 72D 9 g1 =become small
2 %ﬁ( 8> 7T =te-form of 5 < 72D F¥9 g1 = become old

3 %nf = te-form of %hi@“ g2 = get dirty

4 E&n‘( = te-form of E}%’Liﬁ" g2 = get torn

S YD AT LE T, =

To my regret, my shirt shrunk.

* %E’/UT LU ¥ o 7 =to one’s regret, (X) shrunk = <plain-style-past-affirmative> of ?‘TEAJT LEW
X9 (to one’s regret, (X) shrink)
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55
* fEHF I g1 (shrink)
* [te-form] UL EWLWEF =1 to one’s regret, he does ~ 2 finish doing ~ completely

[126

1 %’C = all, everything

2 9 < T = immediately, at once, right now

3 2Lz LY = almost

4 ¥ > & =finally, at last

B L— ki 3E RboTe, =

Regarding the report which is my homework, | have almost (nearly) finished doing it.

L <fEn
* T8%8 = homework, assignment

* [ZIX = almost, nearly
o)
* #%1 o /= = ended = <plain-style-past-affirmative> of %‘i‘b D %9 g1 (end, finish)

h h
HED ZH 57\ =plain-style of HED Z1 D £t A =doesn't change much

2
h N
ZHh P9I L) = <plain-style-nonpast-affirmative> of £ 0D ¥©9 L\ T = be easy to change,

change easily
* [masu-form] ¥ 9L\ TT = easy to do ~ / do ~ easily

3
& < 72 % = <plain-style-nonpast-affirmative> of & < 7& D ¥ 9 = become better

4
b3
B < 72 % = <plain-style-nonpast-affirmative> of = < 72D ¥9 = become worse

5WLew> TAE ML

FEIF RN EET S 25K, =
| hear that the weather will improve next week.
ML

* [O]{8 = restoration, rehabilitation
A< ML

*[O1{89 % % 572 = <plain-style-nonpast-affirmative> of @89 % %5 T = hear (heard) that
(X) recover
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MUNEL MEL

* [B1f8 9" % = <plain-style-nonpast-affirmative> of [l{& L £ 9™ g3 (recover, recuperate; redeem,

retake)
* [plain-style] > T9 =11hear that ~, | heard that ~

P10

EIRE6
[128

EFS5ULA
73#t = a policy, a line, a principal, a course, a plan

TeWa> E5UA O AW T

Z &<
BREO A#H ENhfc DT, FIC KEIF Heh o7, =
Because the typhoon missed 73 #t, it didn't particularly damage.

* i%m: = missed = <plain-style-past-affirmative> of igﬂ;hi‘é” g2 (miss, bore off, bore away)
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~
* %L: = especially, particularly

* ?BZ% = damage

* .':E'E?b\a fc = didn’t come out = <plain-style-past-negative> of gj ¥ 9 =come out

EF>25

— J3[A] = a direction, a course

bfcL & U ES5UA NA LU 2500 < U BEF

FAD SHED AEtid EF%Z 600 F BRAD & o =
My 75 &t of this year is to memorize 600 kanji.
BE _ B _
* 5 X % = <plain-style-nonpast-affirmative> of X £ 9 g2 (memorize)

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).
* [na-adjective / noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T3

Ji

O &
.

<
— B#Z =an aim, a target

h&35bD o< EFS5ULA BL - N
CORIEZE £ AdtxE AT LIV, =
Please tell me the /5t which we make this dish.
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o< o<

* Y% = <plain-style-nonpast-affirmative> of fED £39 g1 (make)
L

*#Z £9 g2 =teach, tell

E>3EF>

— 7374 = a method, a way, a manner, a means

éctvl,\( Nh E5ULA

BB IC BT 2 BHO S5 A=< Bbole, =

The policy of the government about education changed drastically.

EFSINY

* B = education
M

[cB89 % = about, regarding, concerning
R AW

* BUFF = government
2N m
Z 1 o = = changed = <plain-style-past-affirmative> of = Z1 D £ 9 g1 (change)

(129

F AW
#:F = a sphere, a scope, a range, an extent / an area

1
(o) 3 AW

O ek T =2 @ BEIC HHNT W3, =

AW

This town is separated (is divided) into two &5 by the river.

* |2& > T =by ~ (N2 No.13)

* ﬁjb\?b\h’c L% = <plain-style-nonpast-affirmative> of \75\1’1,’( LWZE 9 = be being separated
* %\b\hi? = be separated, be divided = passive-verb of éJ\H £ 9 g2 (separate, divide)

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

5\ &
— H35 = an area, a region, a district

MWL LAL®D

coaiiE LW BEc #E Uk, =
This company advanced into a new #z.

C
>

LD

*

G

= an advance
LAL®wD

19" % = <plain-style-nonpast-affirmative> of #H U &9 g3 = advance
12743
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B AP
— 28 = a field, a sphere, a realm

03 F AW o4&

H 9 H&H 3
AR LW SEET BV ESD TU& DS, =
Tomorrow, it rain heavily over the wide area.
3 S
* B % = <plain-style-nonpast-affirmative> of D £9 g1 = (X) fall (from the sky)

* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TUL & > =‘1 Probably ....... ,

WX AE E AW
NS BRET O EHEF 2FO<C S W 12, =
The &5 from my house to the station is about 2 kilometers.

* [na-adjective / noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T9”

E g0 .
— PP = a distance

&E ]

CEF) - RBULREDERE) ascope; (B - M & DFEIE) asphere; (H72E DRI
FE) arange; (AHYD DIEE) an extent

HBEZ—EDRSNILEND, H2XE. TEW—IcE2) TE5-THAIT 3,
DE
ANEDFEEICHITD. HMELIc—DDMEE. WEDHZTHE - @, THLL— DI,

(130
BT = at least

1 HE WEFAZA . -

ZFDED E—F—F EHT 1 ABIF T35 55, =

The sweater at that shop will cost 10,000 yen £ 7T.
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WEFAZA WEFAZA

* 1 A& 9% = <plain-style-nonpast-affirmative> of 1 77F3(l&) L ¥ g3 = It costs 10,000

yen.
* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] 725 S =the plain-style of TL & 5

which means ‘1 Probably ....... b2 e , right?
9<
— B & = at least

Wk

D Uw> U =)
SIS HHIY—IC EBoTH, BHT 10BHT X BFHBL, =
Even if | take a taxi now, | cannot arrive there at 10 o’clock. x &8 T

* %’D T¥H =even if (X) board, even if (X) ride

* [te-form] B = even if ~

* %D &9 g1 =board, ride

* %H 72\ = cannot arrive = <plain-style-nonpast-negative> of %H &9 (can reach, be able to
reach) which is the potential-verb of %% &9 g1 (arrive, reach)

EX 3ok %

/IJ_"\%B(—T-_|-< tﬂ\b ‘@.'675—( 1/Eib7—<_b\o =
If 1 go to Kyoto, | want to stay at least overnight there.

* ?% < 7185 =if (X go (and | will say my judgement (opinion) in the latter part),
* [plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] 7% 5 = if (X) do ~ (and | will say
my judgement (opinion) in the latter part)

:t/;é = a night’s lodging

Wo lEF< W [F<

—Bl& U 72\ = <plain-style-nonpast-affirmative> of —HI& U 72\ T3 = want to stay

overnight, want to spend the night
* [masu-form] 7=zL\CT9 = want to do ~

TALYS ZUwo>Th

SSED T AN 51.:.75\ BhoTfc . EHT 50 =l HW’LT‘_O =
| didn't't have any confidence in the examination which | took last week, | was able to get T & T
50 marks.

14 /43



CUA _
* B1E = confidence

* I&H o fo = didn’t have = <plain-style-past-negative> of 6 D £ 3 g1 (have, there is, exist)
& &
* B\ /c = were able to get = <plain-style-past-affirmative> of EX41 & 9" (can take, be able to
&
take) which is the potential-verb of BXD £ 3 g1 (take)

¥<
—DdEDd

8T is used to show your minimum wish which you want to make at least this thing realize

although you are not satisfied.

RBERBMS, INLFRERSBLVWEVWSIRERDOBEEZRT, P E&dH, TATRER
WA chiZiFTd, T—FrIFTEEESVW T——OmEITNILR5,

(131
Dz

FlI#R = a profit, a gain

1
VRV RO IR, =
h z &

Jogging becomes 4t of health.

FAZS

* 5% = health
* 78 % = <plain-style-nonpast-affirmative> of 7& D £9 g1 = become

nEh > - HHE Dz & .
CDEET oS, [ED FZRIF FEAE BV, =
If I sell it with this price, it hardly yields profit for the shop.

Rk

* fEEX = price
*5Eo e 5 =if (X) sell

2
* ==

58 o Ic = <plain-style-past-affirmative> of ENET gl (sell)
* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell

you what happened
* |[E & A E = almost, mostly, nearly

* 7&\L) = don’t have = <plain-style-nonpast-negative> of 3 D £ 9 g1 (there is, have, exist)
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7_1“@"3:9"_0 @D . . hz & \\fJ‘/v . -
BEREZ BRATE DY FIED RO SNV, =
| took a cold medicine, but | cannot feel FlJ2£.

* ﬁA/uﬁ_ = drank = <plain-style-past-affirmative> of ﬁAo”%i@“ g1 (drlnk)
R b 51 7%k L\ = cannot feel = <plain-style-nonpast-negative> of & b bhi@“ which is the
potential-verb (can feel, be able to feel) or the passive-verb (be felt) of b F 9 sg2 (feel)

ZS5h
— ¥R = an effect, a result

. hz = LADAEA DESEh . Yy .
INZAD FEfIE. FEFRED b HEN TV & T2, =
The FlJZ% of buses is that the fare is cheaper than the Shinkanse (bullet train)

D&3>FA
* Bl& =afee, acharge, a fare

* [na-adjective / noun] /2 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T3~

DTh
— Fl/22 = an advantage

(132

Ty
M& S = <plain-style-nonpast-affirmative> of fr\L\ &K 9" g1 = (one’s wish / one’s dream) will be
fulfilled, will be granted, will come true, will be realized

AN LS WwWa>

FHY LN, 1)§Ztst EHEE LT EJUJJ% HR&)T‘,O =
His hardsh|p M7\, he succeeded as an actor.

<35

* &% = hardship, trouble, pains
R R HR
*MHW, =MH>7T, =M>7%, £ULT. =(one’s wish) came true and .....

JAAYAN JAYAN

* M- /= = (one’s wish) came true = <plain-style-past-affirmative> of L & 9" g1 ((one’s wish /

one’s dream) will be fulfilled, will be granted, will come true, will be realized)
* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more

formal.
[EWb >

*fEB & LT = as an actor (N2 No.1)
B B
*IN& T = obtained <plain-style-past-affirmative> of UX& &£ 9 g2 = obtain, acquire

gWIS

* Ih%z HWSD&@“ = succeed
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< < <
— Hbon =F o T =Fbhi, £LT. wasrewarded and ....
< o<
* Pz = was rewarded = <plain-style-past-affirmative> of #1111 £ 3 (be rewarded) which
&<
is the passive-verb of FRUL\E 9 g1 (reward, repay)

ThELEFS A EX el WEIZEU® S ALty

RIFHD W, SHIEF — HH REL T =
The weather forecast 17\, It was fine weather all day.

< IU/E KIES
* XK. T %R = weather forecast
i i s
*HL, =MH>7T. =MH>7%, £ULT. =(one’s wish) came true and .....

B v
* > fz = (one’s wish) came true = <plain-style-past-affirmative> of HrL\E 9™ g1 ((one’s wish /

one’s dream) will be fulfilled, will be granted, will come true, will be realized)
* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more

formal.
WEIZELUw S

* —H 1 = all day
HVEL

* IREF = fine weather

* [na-adjective / noun] 72 o fc = <plain-style-past-affirmative> of ‘{na-adjective / noun] T3’

- gﬁ_’o gﬁ.o? étoto ZULT. =(X) hlt and ... /(X) was right and ...
* éﬁ_ > fc = hit = <plain-style-past-affirmative> of éﬁ_ D &I g1 (hit)

U AT ne U Javay

w7z ERT S AR I BEIC Mo T, =
The event which we have been preparing h\/& o 7c without incident.
* ﬁ% = preparation
* %1&’( & 72 = have been piling up, have been stacking = <plain-style-past-affirmative> of %h
T E X9 (will have been piling up, will have been stacking)
* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far

i \$ safety, safely, without incident, peacefully
* EHfio fc = (one’s wish) came true = <plain-style-past-affirmative> of ﬁ\?b\iﬁ' g1 ((one’s wish /
one’s dream) will be fulfilled, will be granted, will come true, will be realized)

- :‘ﬁ%bo = = (It) ended.
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U & A HH £s) - EQ N - - AN

BAODEZ FD EWS BN ESED ol =

The dream which | have (open) my own shop came true finally.
Py

b b
* ¥ D = <plain-style-nonpast-affirmative> of 5 %9 g1 = hold

*(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)

g
* > fz = (one’s wish) came true = <plain-style-past-affirmative> of H+L\E 9™ g1 ((one’s wish /
one’s dream) will be fulfilled, will be granted, will come true, will be realized)

P11
FRa7
133
A
' 5 =already /
T b b
IS = <plain-style-nonpast-affirmative> of of #&IE T = (X) is impossible. /
&. =...,you know?; .., ltell you. ; ...., | am convinced. /
bl
FAIT (& = For me, From my viewpoint,
[=4¥]

. |& here shows a topic. /
5% 072 AT = 5 kilo meters or the long distance like that /
E

(=49]
72\ = cannot run = <plain-style-nonpast-affirmative> of 11X 9 (can run, be able to run)
=49
which is the potential-verb of £ £ 9 g1 (run) /
(;o = ...

, you know? ; ..., | tell you. ; ...., | am convinced. //
A: It is already impossible for me. | cannot run for 5 kilo meters or the long distance like that.
B
FE 7 = still/
Z0e<
J:o =

, you know? ; ..., I tell you. ; ...., | am convinced. /

500 X — kL7 = <plain-style-nonpast-affirmative> of 500 X — kJL T3 = (X) is 500 meters
RAT =why /
% 5% > 7T =in that way

Ly
Eox—> Ko &
(Y
*

LY
= D = (X) say, ‘cannot do, hopeless, failure, useless’
(Y
<plain-style-nonpast-affirmative> of £\ & 9 g1 = say
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28 & io x—> 126 & ?'3 (X) say, ‘cannot do, hopeless, failure, useless’

null:

> = <plain-style-nonpast-affirmative> of EL\EX 3 g1 = say

3
28 EH S = (X) say, ‘cannot do, hopeless, failure, useless’ or the thing like that
* c‘:7’J\ =...andsoon/suchas... (N2 No. 114)

52 = <pIa|n style-nonpast-affirmative> of §\L\& 9 g1 = say

4
71675 EIFED Y &iF SRV = (X) don't say, cannot do, hopeless, failure, useless’
1073\,\ = don’t say = <plain-style-nonpast-negative> of L & 9 g1 = say

Do =....,  wonder? //

B: It is still 500 meters. Why do you say the things like ‘I cannot do it anymore’, etc so fast in
that way, | wonder?

(134
H 1 1 =this and that /

|“’A/7L SEIC %
* 'I /u?'l. = was worried = <plain-style-past-affirmative> of | 5’%?? (be worried, be distressed,
be troubled)

2

3P

AT EE C = after (X) was worried, after (X) thought for a long time (N2 No.89)

3
|“’A/7L Z 5 IC = at the right moment when (X) was worried, at the right moment when (X)

thought (N2 No.31)

4
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|“//u72. & & DIC =in the same way that (X) worried, in the same way that (X) thought , as (X)
worried, as (X) thought (N2 No.31)

fEWh<

ABCKX% = ABC university /

%Z <direct-object particle> /

LIE>ZS

EEAL = the school of one’s preference /
[C/

Ed =
R e = decided = <plain-style-past-affirmative> of £ £ 9" = decide //

After thinking about this and that, | made ABC university my first choice

(135 ‘

TUVHT—D ?J%j?b = condition of a printer /

Y <subject particle> /

%& 7D, = %k B> T, =&< I&>fco £ULT. =became worse

* 7& o fc = became = <plain-style-past-affirmative> of 72D ¥9J g1 (become)

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more

formal. /
FWZSHNL P

ByE=%t = manufacturer /

IC <recipient particle> /

F'Eﬁb\g“bﬁﬁ_ 5 = If (X) inquire, When (X) inquire, (X) mqwred and | tell you what happened

* F‘ﬁb\/\bﬁt_ = <plain-style-past-affirmative> of F'nﬁb\/\bﬁi"é” g2 = inquire

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened /

BZ5 0 }éu;% = the person in charge over there /

IC = (be done ~) by (a person) /

H1 1 = this and that /

b;%h
B[ = question /

]
2t
Bz 3t HIF<. = (X) made (Y) answer and finally ~

e Zfe
* % 2 &7z = made (a person) answer = <p|a|n style-past-affirmative> of & X £ X9 (make
(a person) answer) which is causative-verb of &z_i’é“ g2 (answer)

* [ta-form / noun D] & |F< =did ~ and finally ..... (N2 No.133)
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(‘4 N
o
T

KZ_ IEENS HIFK. x>FZX SN HIFL<. = (X) was made to answer (by a
person) and finally ~ )

* '&Z_ S 5n7/c = was made to answer (by a person) = <plain-style-past-affirmative> of Eéf.;i
S 51X 9 which is the causative-passive-verb (be made to answer (by someone)) or the
causative-potential-verb (can make (a person) answer) of ﬁzie“ g2 (answer)

* [ta-form / noun @] ¥ < =did ~ and finally ..... (N2 N0.133)

3.
% S5 HIF<, x— &Z_ét*f' HIF<. =(X) made (Y) answer and flnaIIy ~
Z_éttt = made (a person) answer = <p|a|n style-past-affirmative> of &Kéﬁ:i? (make

:m

(a person) answer) which is causative-verb of AZ.&@“ g2 (answer)
* [ta-form / noun D] & |F< =did ~ and finally ..... (N2 No.133)

;s.e

] SE¥snk BiIF<. =(X) was made to answer (by a person) and finally ~ )
7’ &HZ ¥ 5N/ =was made to answer (by a person) = <plain-style-past-affirmative> of Eéf.;i
=51 X9 which is the causative-passive-verb (be made to answer (by someone)) or the
causative-potential-verb (can make (a person) answer) of ﬁzie“ g2 (answer)

* [ta-form / noun @] ¥ < =did ~ and finally ..... (N2 No.133)

VoL Y —
fenwg S
X i T Z 7L\ = cannot correspond, cannot keep up with, cannot deal with, cannot cope with =

fcW&E>
<plain-style-nonpast-nagative> of X3/ C& £ 9 (can correspond, can keep up with, can deal

with, can cope with, be able to correspond, be able to keep up with, be able to deal with, be
able to cope with) of %‘% L 9 g3 (correspond, keep up with, deal with, cope with) /

& <quotation particle> /

%bh?‘:o = was said = <plain-style-past-affirmative> of %bhi@' (be said, be told) which is

the passive-verb of §\L\EX 9 g1 (say) //

The condition of the printer became worse, so | inquired at the manufacturer over the phone.
Then, | tell what happened. | was made to answer many questions (this and that) by the person
in charge, and finally | was told that he was not able to deal with it.
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Exyo ¢ dictionary-form / -
plain-style, non-past-affirmative

=ML nai-form / _
plain-style, non-past-negative
%L\ _ ta-form /

plain-style, past-affirmative
%75‘75‘7'8?75‘9 1= plain-style, past-negative

%g masu-form /
masu-form without ‘masu’

%b\ nai-form /
nai-form without ‘nai’

[ 136

%f’éﬁﬁ: = <plain-style-nonpast-affirmative> of %fﬁ]’(?‘ = (X) is troublesome /

M. =but/

P13 D = as expected, after all /

Z DL = this job /

Eat <topic particle> /

&ﬁ?’b?& L\ = cannot reject = <plain-style- nonpast negative> of l}ﬁ%i? (can reject, can refuse,

can decline) which is the potential-verb of Lﬁ 'O F 9 g1 (reject, refuse, decline) /

[ >

5|Z2XRIF3 £TH %5 KL\ = probably (X) will not have to undertake, probably (X) will not
need to undertake

* §| X323 = <plain-style-nonpast-affirmative> of §I % |7 %9 g2 = undertake /

© orlglnal expression:
* ?;I EXITB £FTH H D FEA =don’t have to undertake, don’t need to undertake

* [dictionary-form] & TH & D ¥ A =don’t have to do ~, don’t need to do ~ (N1 P108 No.
97) /

* [dictionary-form] & L\ = probably ~ will not do ~ <the negative of a guess(supposition)> ; |
never do ~ <the strong negative of a speaker> (N2 No0.42) /

* [dictionary-form] &£ TH 82 F\\ = probably (X) will not have to do ~, probably (X) will not
need to do ~/
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Y 3% F UL\ = probably (X) will not have ~, probably there will not be ~, probably will not
exist ; | will never have ~ — @ % = <plain-style-nonpast-affirmative> of % D £9 g1 (have ~,
there is ~, exist) //

2
EUI XZF3 LB B = plain-style of ??I XZ|33 &b %D EHFA =don't have to undertake

[} > [6} >
* 5| E%F % = <plain-style-nonpast-affirmative> of 51 Z (7 £ 9 g2 = undertake /
* [dictionary-form] Z & (& (or ) % D ¥ A =don’t have to do ~, don’t need to do ~ (N2 No.
39) /

3
[} > >
5l|EXRIFS (ETH 7\ = plain-style of §UI E2XT3 ETH H D FH A =have no expectation
that (X) undertake /
[0} > [6} >
* 5| E%F % = <plain-style-nonpast-affirmative> of 51 Z (7 £ 9 g2 = undertake /

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
&9 hor ) % D £t A = have no expectation that ~ //

4.

| %H% Lh %5 F L\ = probably (X) will have no choice except for doing ~
[} > [ >
51 Z % (F % = <plain-style-nonpast-affirmative> of 5| 32 £ 9 g2 = undertake /

* UUg

© original expression:
[0 >
*5|EXRITD U H D XHEA = (X) have no choice except for undertaking /
* [dictionary-form] L D™ 86 D £ A = (X) has no choice except for doing ~ (N2 No.40)

* [dictionary-form] & L\ = probably ~ will not do ~ <the negative of a guess(supposition)> ; |
never do ~ <the strong negative of a speaker> (N2 No.42) /
* [dictionary-form] LAY &% E\L\ = probably (X) will have no choice except for doing ~

Y¢ 8% F L\ = probably (X) will not have ~, probably there will not be ~, probably will not
exist ; | will never have ~ — 3 % = <plain-style-nonpast-affirmative> of % D £9 g1 (have ~,
there is ~, exist)

It is troublesome, but | cannot reject this job after all. Probably | won’t have any other choice
except for undertaking it.
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137

XL

LLIFH = Yamada /

hh &L
ESE = a supervisor, a director /

@D. <possession particle>/
bl

¥ N
Y ER
LI = Yamada /

|& <topic particle> /

50%“/3\‘ D [T = after fifty years’ silence (absence , intervals) /
%@ETZ = hometown /

I <arrival particle>/

beE
R > T =te-form of R 'O %9 g1 (go back, come back, return)

ih\

HE =
{}=' 2T} £ D X UTc = special-humble-verb of > T K& U fc = came back
'O &9 g1 =come back

ib\

"% D i@' g1 = special-deferential-verb of ﬁ% %9 g1 (go) and %i@' g3 (come)

df'

’D < ﬂ%i@“ come back and come here, come back

2

{}:‘ 2T W5 > U» WXL = special-deferential-verb of 9 T Eléi L 7z = (one’s superior)
came back

*W5 o U » WX = special-deferential-verb of ?%% £9 g1 (go), ;Ei? g3 (come) and L\ &K
9 sg?2 (stay)

3

{)=' PNQRE th\i b?ﬁ_ = speC|aI -humble- verb of )=' 9‘( E'E'EJ% i b?ﬁ. DT n)_;;#’ai L 7z (came
back and asked) or )=' 27T uﬁbi L7z, 3’( uﬁni L7z, D‘C .:EF'nﬁ LU % U7z (came back
and visited)

ShHbd

*{@UWEX 9 g1 = special- humble verb of F'Eﬁ% 9 g1 (hear, ask), —?hiﬁ' g2 (ask), nﬁniﬁ' g2

BEY

(visit), EHE 9 g2 (visit), uﬁf'ﬁ L F£9 g3 (visit)

4.
HeE
{R> Ty BWTIC/E D £ Uz = special-deferential-verb of o < EEi L 7z = (one’s superior)
came back
=
*BWTICIR D £J = special-deferential-verb of kX3 (come)
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. & WD HULE D =the greeting (the address) which is .....

*(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
cL:ontents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

<./

%;7?;;5\5 = from the meeting place, from a hall, from an assembly hall /

|& <topic particle> /

3@%@?@% = big applause, big hand clapping /

hY <subject particle> /

%Z > fc = happened, occurred = <plain-style-past-affirmative> of %Z N Z£9 g1 (happen,

occur) //

There was much clapping heard for the greeting (address) of Director Yamada which is ‘I,
Yamada, came back to hometown after ten years’ silence.’ &

(138

7/5\0)0& Z .
22 D #% = her picture /
|& <topic particle> /
IR

EWX = internal, domestic /
& D =than/

K &H =t couldn't be. It cannot be true. Never! No way!

2
fcEZ =1.lc& X +te-form =evenif ~ 2. an example 3. metaphor

3
X &D Y=Ythan X

X&D $USB Y =Y rather than X

4.
M D I = temporarily, briefly, provisionally, for a limited period of time; for example, for instance

ANV

yB4) = foreign countries, abroad, overseas /
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C <particle which shows the place where the action takes place.> /
D <possession particle> /

%ﬁﬁ = valuation, estimation, assessment, appraisal /

Y <subject particle> /

fep
=\ = <plain-style-nonpast-affirmative> of m\ﬂ’(@“ be high, be expensive //

Her picture is highly evaluated (is highly regarded) in foreign countries rather than in her own
country.

139

%\tfﬁbﬁ = this year, also /

%Z?%E = a graduate /

%z <direct-object particle> / ’

% D .':1:1 U7fco = sent off = <plain-style-past-affirmative> of % D .‘:fh' L E9 g1 (sent off) /
;ELC = next, afterwards; secondly, subsequently /

%\5 = <plain-style-nonpast-affirmative> of %L\iﬁ“ g1 = meet

& & =[plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’
;ispectively.)] & & =when (X) do (did, is doing, was doing, etc) ~ /

5 6 =theyalso /

RN

ALfik73 = excellent, splendid, magnificent
ESIR A

KA =adult/

i/

(*/\_/\*) ______________________________

B R

{RAIC} %23 125 5 = Probably they will become adults.

* 73 % = <plain-style-nonpast-affirmative> of & D &9 g1 (become)

* [stem of i-adjective] < 7% D 9 ; [na-adjective] IC & D £ = become [adjective]

* [noun] IC 7& D ¥9 = become [noun]

* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] 725 S = the plain-style of TU & 5
which means ‘1. Probably ....... , 2. e , right? /

2
Ben

{RAIC} 72>z 723 5 = Probably they became adults.
* 7& o fc = became = <plain-style-past-affirmative> of 72D £ 9 g1 (become) /

3
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Ber
{KAIC} 2 >T W3 7235 = Probably they will have already become adults.
* 72> T W% = <plain-style-nonpast-affirmative> of & > T L X9 = be becoming now
* 72D 9 g1 (become)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

4

ESIR A
{RAIC} %2> T Wiz 7£3 5 = Probably they had already been adults. &
* 71& > T Lz = was becoming = <plain-style-past-affirmative> of 7& > T L\& 9 = be becoming

now
* 72D 9 g1 (become)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

| graduated my students this year as well. When | meet them next time, probably they will be an
excellent adult.

(140

FWTs

#H = everyday /

al)
g\,\71, N EDEH - fz H = Whether (X) wrote or not
* 2\,\71_ = wrote = <plain-style-past-affirmative> of i% ESr) g1 (write)
* E73\7&75\'3 fc = didn’t write = <plain-style-past-negative> of 2% F9 g1 (write) /

3

I m

EWT B EN< T H =evenif (X) write or even if (X) don’t write,
* [te-form] = even if (X) do ~

* [nai-form &L — 72 < T] H = even if (X) don’t do ~ /

4
Iy m»

== < EM ENEV & D =for example, (X) wrlte or don't write ; such writing or not writing
* E < = <plain-style-nonpast-affirmative> of 2% Fx9 g1= wrlte

* Eb\fa L\ = don’t write = <plain-style-nonpast-negative> of E% £9 g1 = write

* & H =such as, like, as an example of, like for example /
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EE 5 TH = whichever (it is) (between two items)

LYW\ =good /

— 55 TH LW Z & =the thing that either (X) or (Y) is OK /

Z & =thing, matter /

(EHD =just, only, full of ~ /

%z <direct-object particle> /

A=z = diary /

IC <recipient particle> /

%L\‘C L% = <plain-style-nonpast-affirmative> of %L\T L& 9 = be writing now

* %% £9 g1 =write

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
M 72 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {na-adjective / noun] da’

becomes ‘na’.)] ® TI'=...... , | wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , |
want to emphasize ; ....., | really want to say so ; because ...... — (O can be changed to A. /
D =but/

Z1 =that/

¥ <subject particle> /

ARLR =stress /

bﬁ?@b/%: cancellation, annulment /

i/

%> 7T W3, = <plain-style-nonpast-affirmative> of 7& > T LWEX 9 = be becoming now
*71& D X9 g1 (become)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Everyday | am writing only the thing that either ‘even if | write’ or ‘even if | don’t write’ is OK on
my diary, but it gets rid of my stress.

Everyday | am writing only the thing that is either ‘| may write’ or ‘l don’t have to write’ on my
diary, but it gets rid of my stress.

ENT HEHBITH EB5TH LW &

- %L\T% L\LY Z & (the thing which | may write) + %75\722 <TH LW Z & (the thing which |
don’t have to write) £5 5 T%H (either one)

* [te-form] H WLWL\TT =may do ~, itis OK to do ~

* [nai-form /&L — &< T] H LWL TT =don’t have to do ~, don’t need to do ~
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41 &

h&

2 = face /

% <direct-object particle> /

H5 H5

WED = <plain-style-nonpast-affirmative> of YtL\&E 9 g1 = wash /

& & =[plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’
respectively.)] & & = when (X) do (did, is doing, was doing, etc) ~ /

IC <the particle which shows the exact hour when the action takes place.> /
|& <topic particle> /

oA

AR = soap /

%Z <direct-object particle> /

13%\\/\ 9= FIC = f%b\ 9 & 2L\ T = without using ~ too much

* %L\iﬁ = use

* {%\b\ 9 Z XY =use ~ too much

* [masu-form] 9= £ 9 sg2 = do ~ too much

* [nai-form 7L\ — %2\ T] = [nai-form 72\ — 3 (IZ)] = without doing ~
* LBWT =87 (I2),not LT (IT)/

AN

T%b\ I JIC = 19%\\,\ 9 = 72 < T =(X) don’t use ~ too much and ...., (X) don’t use ~ too
much and therefore .....

* %L\i@“ = use

* %b\ 9 ZEXY =use ~ too much

* [masu-form] 9 Z £ 9 sg2 = do ~ too much

* [nai-form 7L\ — 72 < T] = A [nai-form &Ly — 9 (IZ)] = don’t do ~ and ... <used to join

sentences> or don’t do ~ and therefore <used to show a reason>/

Summary:
* [nai-form 7R L\ — 72 W] = O [nai-form 7R L\ — 9 (IZ)] = without doing ~

w LBWT =879 (i), not LT (IZ) /
* [nai-form 72 \L\ — 72 < T] = A [nai-form &Ly — 9 (IZ)] = don’t do ~ and ... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>

w LBWT =879 (i), not LT (IZ) /

Information:
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* nai-form is either the word with ‘nai’ after making the nai-form or the word without ‘nai’ after
making the nai-form.

Example: The nai-form of ‘kakimasu’ is either ‘kaka nai’ or ‘kaka’. The nai-form of ‘tabemasu’
is either ‘tabe nai’ or ‘tabe’.

However, | use ‘[nai-form]’ to mean the the word without ‘nai’ after making the nai-form in this
explanation.
2
13%\5 IC9&T = %5 IC /< T =(X)justuse ~ and ...., (X) just use ~ and therefore ....
* [plain-style] IC £ F A =just do ~ (and it is nothing more than that) (N2 No.61)
* [nai-form 72\ — 72 < T] = A [nai-form &Ly — 9 (IZ)] = don’t do ~ and ... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>

w LBWT =879 (I2),not LT (IZ) /

% B> I TES - S e FERNT

3
13%\5 I 9L = 13%5 IC 97 < T =(X)justuse ~ and ...., (X) just use ~ and therefore ...
* [plain-style] I 9= £ A =just do ~ (and it is nothing more that than) (N2 No.61)
* [nai-form 7L\ — 72 < T] = A [nai-form 2Ly — 9 (I2)] = don’t do ~ and ... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>

W ULBRWT =87 (IZ), not LT (IT)
*In this case, ‘.... 72 <’ is more formal than ‘... 72 < T,/

4
on oh S

FEWTEDL R =FEVWTEL BLKT=FWTEL HDHFEFEFA, £UT. =There are no
time when (X) use ~ too much and ...... , There are no time when (X) use ~ too much and
therefore

* TD%L\ I =N H D EH A =There are no time when (X) use ~ too much
* [nai-form 7L\ — 72 < T] = A [nai-form &L\ — 9 (IZ)] = don’t do ~ and ... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>
w LBWT =879 (i), not LT (IZ) /
* In this case, “.... %7 < is more formal than ‘... 7&< T’. /

& o & =quickly /
H5
%> D =to wash, washing
H5 H5
* %S = <plain-style-nonpast-affirmative> of £ L\E£ 9 g1 = wash
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* Here ‘D’ is used to make a noun phrase (to change a verb to a noun). /
Eﬁ, = skin /

(c/

|& <topic particle> /

& W\, = <plain-style-nonpast-affirmative> of &L\ T9 = (X) is good //

When you wash you face, it is good for your skin to wash it (your face) quickly without using
much soap.

(142

D Sh< 0w Sh<

BF 9 % = <plain-style-nonpast-affirmative> of 8% U £ 9 g3 = study abroad, to go abroad to
study /

X T = until /

bl

=1/

(& <top|c particle> /

U RA T n

ﬁﬁj\b\ BT 3 5 = the world which | am Iooklng at
* %’C L% = <plain-style-nonpast-affirmative> of %’C LWZE T = be seeing now
* %i@“ sg2 = see, watch, look
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
75\ <subject particle> /
é’( = everything, all /
2 = [na-adjective / noun] 7 = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T4’ =
is/
%: <quotation particle> /
%’)T L/, = was thinking = <plain-style-past-affirmative> of ,u')'( WZE I = be thinking
now
,ub\iﬁ“ g1 = think
* [te-form] W& 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>/
;Hiitzt = to tell the truth, actually /
[FA @D =just, only, mere, slightly /
/BJL\\ESE = small /

L\Bé_( R A
—Z89> = a part, one part /

'/ Hhu 50 WE R 3 A =
{%m\ RO FAD NS —ZHITRW & I ULMN{EDWT Wiah o7} =1only
noticed that that thing is not just a small part of the world.
* [na-adjective / noun] T %X L\ = is not (are, am not) = <plain-style-nonpast-negative> of Td %
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* [na-adjective / noun] Td % = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T D
& 97 which is more formal than ‘[na-adjective / noun] T3 =is (are, am, etc) /

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
* LA = only, nothing but, nothing else except for <L A" is always used with the negative, but

the meaning of the whole sentence containing U %" is the affirmative in English. Example: nihin-

go shika wakarimasen = | understand only Japanese.>
* L A\ is put right after the word which you describe by it. To put U %", follow the below.

Xi& — XUH + negative

XHY — XU D + negative

X% — XU D" + negative

XIZ — XIZ UH + negative

XT — X7T UM + negative

X& — X&E U + negative

XN\ — XU + negative
PAg %‘?T“@“ + U= g? LM & D FXREA (ltis just adream.) > We change & in ‘TlE D T
A (the negative of T9) to L H.
PA¢ %}’C HODFXRIT + LD = %QT UL B D EREA (Itis just adream.) — We put U H right after
%)T“ and make the negative.

* ‘:

x D Ele)
* [T WT Wiah - 7z = didn’t notice = <plain-style-past-negative> of of KWW\ T WX =be
noticing now

Ele)
*(X)Ic [AFEF T g1 = notice (X)
* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

2
®hn 50 W5 33 A =
{(ZFNHHAED FAD INSTE —ZDI T UM W & [T{KDWVWT Wah o7} = didn't

notice that that thing is only just a small part of the world. / | didn’t notice that that thing is only a
very small part of the world.
* [na-adjective / noun] T UL H 7& L\ = plain-style of ‘[na-adjective /noun] T UL/ & D XA =

(X) is only ~
* [na-adjective / noun] T % D £9 + LD =[na-adjective /noun] T LM H D XA

3
o hn 5L\ W5 33 A =
{(ZFRDHRD FAD NER —FRYICBW & T UM {EIWT Wiah 57z} =1 didn't

notice only by means of the fact that that thing doesn'’t exist in just a small part of the world.
* |C <existence particle>

* 72U\ = don't exist, don’t have, there is not ~ = <plain-style-nonpast-negative> of % D ¥ g1
(exist, have there is ~)
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4
{#nh ﬁ%@ IFAD /J\éa —*‘B } DY)\ W AN A T‘*{’%’D“L\’C L@ Hv o 2} = That thing

exists in only just a small part of the world and | didn’t notice.
* |C <existence particle>

* 72U\ = don't exist, don’t have, there is not ~ = <plain-style-nonpast-negative> of % D ¥ g1
(exist, have there is ~)

*(X) I LD 720N = plain-style of {(X) € LD D £ A’ = ~ exists in only (X)

* To join the sentence which ends with [i- adjective / na-adjective / noun] 9’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. * In addition to ‘[stem of i-adjective] < T,

‘[stem of i-adjective] < ’is also used to be more formal. /

tr
U~

EHL\T LR D > e = didn’t notice = <plain-style-past-negative> of of —LHL\T W&XT =be
noticing now

* (X))l —uﬁ:c‘f %9 g1 = notice (X)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Until | studied abroad, | was thinking (I thought) that the world which | was looking at was
everything.
To tell the truth, I didn't notice that it was just a very small part of the world.

(143
HhnL »

(=1L ) = at the company /

A
F%H 1 ? =Look!/ Listen! / What a surprise! /

HZ I W3S D =the person who is over there

* L\ % = <plain-style-nonpast-affirmative> of L\& 3 sg2 = there is ~, have, exist, stay /
* M here means U & (person).

IJ_I% & A = Mr Yamada /

Mg =.... , | wonder

*[plain-style (‘da’ in ‘{na-adjective / noun] da’ must be omitted)] H\%% is often used to ask

qguestion oneself.
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A: Look! Regarding the person who is over there, is he Mr Yamada, | wonder?

B
rleiEfé & A = Mr Yamada /
id <topic particle>/
bﬁﬁéjgg = be away on business /
[na-adjective / noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T9 =is

(are, am, etc)
6 = wuun. , Yyou know? ; ..... , | tell you. ; ...... , | am convinced /

WEW DIF U %20 K = plain-style of WRW D lF TlE D £HFA K =1don’t mean to say

that (X) don’t stay,you know? ; It doesn’t mean that (X) don’t stay, you know? (N2 No.112)
* LVMZ LY = don't stay, be not in = <plain-style-nonpast-nagative> of L\&X 9" sg2 (stay, be in, there

is ~, have, exist)

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
bl Tl D XREA =1don’t mean to say that ~, it doesn’t mean that ~ (N2 No.112)

2
W3 DlF 2L U » 720 = plain-style of W5 DT (BY) 78\ Uy D FEBAD = WD DiF (BY)

BV T D XEFAD =ltis impossible for (X) to stay, don’t you think so? (, | want to confirm

with you.)
W3 DlF 2V = plain-style of LW\ % D iF (AY) & D X A = Ititimpossible for (X) to stay

* [plain-style (but, ‘da’ of {{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
I HBD XREA =itis impossible for (X) to do ~ (N2 No.43)

* [plain-style (‘da’ in [na-adjective / noun] da’ must be omitted)] Ti& D XEAM or Uw» HD
XEBAD =...., don’'t you think so? ; ...., | want to confirm with you.

3
Wz BT U» 720 K = plain-style of L /c olF Tld D ¥ A &£ =1don’t mean to say that

(X) don’t stay, you know? ; It doesn’t mean that (X) don’t stay, you know (N2 No.112)
* L\fc = stayed, was in = <plain-style-past-affirmative> of L\& 9" sg2 (stay, be in, there is ~,

have, exist)
* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
bl Tl D XREA =1don’t mean to say that ~, it doesn’t mean that ~ (N2 No.112)
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4
Wiah o7z lF U &\ = plain-style of Wiah o7z ol Tld D A =1don’t mean to

say that (X) didn’t stay, It doesn’t mean that (X) didn’t stay (N2 No.112)
* L& Hvo 7o = didn'’t stay, was not in = <plain-style-past-nagative> of L\& 9™ sg2 (stay, be in,

there is ~, have, exist)

* [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
bl TlE D XREA =1don’t mean to say that ~, it doesn’t mean that ~ (N2 No.112)

B: Mr Yamada is away on business, you know? It is impossible for him to stay here, don’t you
think so? (, | want to confirm with you.)

rZm% L >k, =this entertainer, this talent, this star (a singer, an actor, an actress) /
ZE;% = recently, lately /
& < = often, well /
TLET=0onTV/
%5 = <plain-style-nonpast-affirmative> of %i@“ sg2 (see, watch, look) /

o =...,isn'tit? ; ...., don’t you? ; etc.

A: Regarding this entertainer, we recently see him / her on TV frequently.

B
NEAE, =ltis true. /

Zd)uj\t%': %7& (A I%I = the day when (X) don’t see this person

* %73 L\ = don’t see = <plain-style-nonpast-negative> of %i"é‘ sg2 (see, watch, look) /

|& <topic particle> /

72\L\ = don’t have, there is not ~, don’t exist = <plain-style-nonpast-negative> of % D £ 9 g1
(have, there is ~, exist) /

Ly (A

LEE2TH LW LB £ = <plain-style-nonpast-affirmative> of ....& E>TH LI\ <5 LN
T9 =(X)isto the extent that (X) may say .... (N2 No.23 A)

* %9 T B L\ = <plain-style-nonpast-affirmative> of %9 TH LWWTI =may say, itis OK to
say

* [te-form] H WLWL\TT =may do ~, itis OK to do ~
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* [dictionary-form, nai-form, i-adjective, na-adjective + ‘na’, noun] < 5 WL\ T9 = (X) is to the

extent that ~

L& E2TeS W 21T £ = <plain-style-nonpast-affirmative> of .... & E>7/c5 WW T TT
(X) just should say that .....

[
* =

= 2 /25 L\ = <plain-style-nonpast-affirmative> of § > 7c5 LWL T = should say
* [ta-form] 5 WLWWLWTTJ = should say
* [plain-style] 72|+ T9 =just do ~

3.
& E2TH LW A5 f£ = <plain-style-nonpast-affirmative> of ..... & E2TH WL\ NS T
9 = Because (X) may say that ....

* & 2 C bW = <plain-style-nonpast-affirmative> of § > TH LW\WWTI =may say, itis OK to

say
* [te-form]  WLWW\TTJ =may do ~, itis OK to do ~

* [plain-style] 5 T9 = Because ~

4.

e %’D o5 WL Z & 2 = <plain-style-nonpast-affirmative> of .... & %37‘:5 WW Z&ETY
= It is important that (X) should say that ..... (N2 No.160)

* %'D fc 5 LW\ = <plain-style-nonpast-affirmative> of % > fc5 WWTY =should say

* [ta-form] 5 LW T Y = should say

* [dictionary-form, nai-form] Z & T =it is important that ~ (N2 No.160)

*\(/\o/\)/* ..............................
& =...., you know?; ..., I tell you. ; ..... ,| am convinced.
o =...,isn’tit?; ....., don’t you? ; etc.

B: Itis true. It (The frequency which we see him / her) is such an extent that we may say that we
don’t have any day when we don’t see him / her.

[ 145

LETE I PEBHEA LD _ N
AEATE - fo 1LHEF = Yamanka (a player, an athlete) who was in bad condition
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A5 &S 35 &S

* RNERTZ - fz = was in bad condition = <plain-style-past-affirmative> of 7~¥& T = be in bad

condition /
hHY <subject particle> /

DL\ = finally, at last, eventually /

J—JL =goal /

%Z <direct-object particle> /

5§%N) fco = decided = <plain-style-past-affirmative> of 7‘3&67) X9 g2 (decide) /

Yamanaka (the soccer player) who was in bad condition made a goal finally.

Lfcs =if (X)do *[ta-from] 5 =if (X) do ~
(X) I U7c 5 =from the viewpoint of (X), from (X)’s viewpoint, from the standpoint of (X), from
(X)’s standpoint, from the point of view of (X), from (X)’s point of view (N2 No.125)

2
(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)

3
7L v+ —I& = pressure + (& <topic particle>

4
5L, £ T X% L5, =If | make a mistake again ......’

* X A% UL XY =make a mistake

£5&5

12 = quite, fairly, pretty /

& > fc = had = <plain-style-past-affirmative> of & D £39 g1 (have, there is ~, exist)

[$97, = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {na-adjective] da’ and
‘[noun] da’ becomes ‘na’ and ‘no’ respectively)] (&9 T3’ = (X) must be ~, (X) is sure to ~, (X)
ought to ~, (X) is expected to //

Wic Lis THU %5 S2% Lkd) EWS FLyvv—R 1% Ho7 BFR, =

From his viewpoint, it is expected that he felt quite a lot of pressures which is ‘If | fail to make a
goal again ... (then what will happen?)’.
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Z1 =this/

|& <topic particle> /
L&

#17T = local /

C <particle which shows the place where the action takes place.>

(& <topic particle>/

EN < %El 5hic ﬂﬁ = the dish which is known well, well- known dish

* %l] 5hifc =was known = <plain-style-past-affirmative> of %IZI 51 X9 (be known) which is the
passive-verb of %l] N £9 g1 (get to know) /

[na-adjective, noun] T. =[na-adjective, noun] 7o LT, =is~and .....

* [na-adjective, noun] 7 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’ =

(are, am)
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. /

Z 0)@2‘%9 ¥ = this sourness

* @2%3 ¥\ = sour /

HY <subject particle> /

LU L\, = <plain-style-nonpast-affirmative> of &L\ L WLWT I = be delicious //

‘This is a well-known dish locally (in my hometown) and this sourness is delicious.

fc1Z = 1. free (of charge) 2. only, just 3. but ...

A QA QA

LY Ly
DIRAT WD =L 1R E & ES = <plain-style-nonpast-affirmative> of ... ‘@& & EVWET =

(X) say that .... or a thing like that (N2 No.61A)
(X) say that ....(And | want to show my little contempt for what he says.) (N2 No.61B)

g@mn

ik D = regrettable thing /

|& <topic particle> /

— To my regret, ~ ; The thing which | am disappointed is ~, The regrettable thing is ~
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dt
S

= young people /
\ <subject particle> /

e S, I
A If

S
~

N

[ch T lch T

L
B > (UL D DY FEFZ = <plain-style-nonpast-affirmative> of Eé%v ‘WD MNEFEFTT =(X)is
very weak in sour things, It is hard for (X) to eat sour things. /

TR

iégi’c W3 Z &2 = <plain-style-nonpast-affirmative> of f%?l’( W% Z & TY = (the fact) that
(X) is increasing

* iééz_’c L% = <plain-style-nonpast-affirmative> ofi AT WX T =be increasing now

* i%z.i@“ g2 = increase

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>

o 1 =.....,isntit? ; ...., don’t you? ; etc.

& <quotation particle> /

Irflgdﬁlg & A = Mr Tanaka /

|& <topic particle> /

e

P
&b, =plain-style of 2D £ 9 =talk, tell, narrate //

. Spmk ¥ . . kemTo _ bhED  Eush &
et gl @ i3 @5’%9 W DA FEFE BATWDS FHEDNRE BAT WS &
1o 75

*ao i & Eﬂqu§/u

But what disappoints me is that the young people who say that they don’t like sour food are
recently increasing.’, Mr Tanaka says so.

P14

(147
jﬁh%h@ W 7L €~k =the present which (X) cannot forget

,uhbha L\ = cannot forget = <plain-style-nonpast-negative> of gn%*bi@“ which is the
potential-verb (can forget, be able to forget) or the passive-verb (be forgotten by someone) of
%hi@“ g2 (forget)
l& <topic particle>/

L&5H<KEN
IN2ED H# < = when (X) was a primary school student
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* [plain-style (but, ‘da’ of {{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
& & =when (X) do (did is doing, was doing, etc) ~/
I%%ﬁl:%\ éo T <nrk §$r\$ = the bicycle which my parents bought for me

B > T <{ffc = (X) bought and he gave me a favor ; (X) gave me a favor. The favor is
‘buying’. = <plain-style-past-affirmative> of éo T <NF7 ((X) buy and he gives me a favor ;

(X) gives me a favor. The favor is ‘buying’/
T9, =is, are, am etc //

The present which | can never forget is the bicycle which my parents bought for me when | was
a primary school student.

guho

‘E L L\ &5F = the life which is needy, the life which is in poverty /
D <possession particle> /

h

. =inside/
YAQAaAe

1
%1 72|17 T = by means of only that, because of only that /

2
&6
E A7E B\ T = by means of what kind of thought (thinking) /

3
i'éij T <Nfc ® H =Did (X) buy for me, | wonder? ; Did (X) buy and give me a favor, |
wonder’? Did (X) give me favor, | wonder? The favor is ‘buying’.

B> T <{ffc = (X) bought and he gave me a favor ; (X) gave me a favor. The favor is
‘buylng . = <plain-style-past-affirmative> of L%D T <N FXT ((X) buy and he gives me a favor ;

(X) gives me a favor. The favor is ‘buying’
*@ = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’

becomes ‘na’.)] ® TY=...... , lwonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — @ can be changed to A. /
& <quotation particle> /

4

&b

£ S = <plain-style-nonpast-affirmative> of ,u\b\iﬁ' g1 = think /
= [plain-style] & = ... and naturally (consequently) ~ /

PAQA @ e
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BRHIE

R’H TEXY, =tearsroll down //

Tuho Ay BHTE

ELWAEZE QF, PABRBWT BoT < nkohs BS5E ZhEHT BAT
£,

When | think with what kind of thoughts they bought it in poverty, my tears roll down with that

sole reason. &

(148
’5L\§/u ZED n
. FENEY/ = E—‘L\ el & FW .':I:.'bii_o =
Recently my child stared to say that she wants to learn how to play the piano.
55 22
* ““L\ 7L\ = <plain-style-nonpast-affirmative> of &L\ 7c\WW T = want to learn
* _L\ 12 Uz = started to say = <plain-style-past-affirmative> of _L\ .':I:'. L ¥ 9 = start to say

* [masu-form] 72U X9 =starttodo .. /

o)V,

=1/

|& <topic particle> /
ZED

Fit = child /

Y <subject particle> /

TR

1
L 7L\ = <plain-style-nonpast-affirmative> of L 7cL\"C9 = want to do

2
P D 72\ = <plain-style-nonpast-affirmative> of 0D 7c\\ T3 =1. wanttodo 2. want to give

3. want to give a favor (to a person)
*PDZEF =1.do 2. (A superior) gives (an inferior).

3
P 58T =te-form of P 5 F T =let (a person) do, make (a person) do

4
& B S Z & =the thing which (X) think, what (X) think
<plain-style-nonpast-affirmative> of ,ub\iﬁ“ g1 =think

cH
Jroe
I
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& <quotation particle> /

&b &b

B >7T W3, =<plain-style-nonpast-affirmative> of £ > T LW&X 9 = be thinking now
&b

* WX T g1 =think

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

bEL b 55 B
g, FHEN LW EBS 2 PS5ET PO W & BT W3, =

| am thinking that | want to let my child do what she thinks that she wants to do ((and give a
favor to her).

[ 149

L Hh
[E K = a nation, a people /
D <possession particle> /
WU

BUA = politics /
PAQA e

1

24V

¥ T = for the first time /

2
e
~ [C X9 % =towards ~ (N2 No.9) /

3
~NHo>T=~NBDEXRT (HD. HD XU Holco ) FLT. =thereis ~and ..., ;
there was ~ and ...., ; (X) have ~ and ..... ; (X) had ~ and .....

* %D XY g1 =thereis ~, have, exist /

4

biut‘;b\
{E38 = trust, confidence /

TR

i L\\ v '_.73;

BUAS = politician /
|& <topic particle> /
L &ES50h&<

15& 71 = leadership /
%Z <direct-object particle> /
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& > = F - =
F1E T E % = <plain-style-nonpast-affirmative> of F& T Z £ 9 (can display, can demonstrate,
F - =

be able to display, be able to demonstrate) which is the potential-verb of & U £ 9 g3 (display,

demonstrate) /
M 12, = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’

becomes ‘na’.)] M TI ' =...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |

want to emphasize ; ....., | really want to say so ; because ...... — (D can be changed to A. //

L Hh WU

N fen LASW N =4V} @L\\U'_f_r_‘ bé:“‘—) D &< =3 ')E‘ .
ERD. BUR IC XT3 B 1P H-T #HT BUERIFEENZ RETED D1, =
There is trust from a people to politics and then for the first time politicians can demonstrate
their leaderships. | really want to say so.
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